







![](_page_2_Figure_0.jpeg)

Some Metrics
$ds^2 = \sum g_{ij} dx_i dx_j$
Flat space-time (special rel. = no gravity): $(ds)^2 = (c dt)^2 - (d\ell)^2 = (c dt)^2 - (dx)^2 - (dy)^2 - (dz)^2$
Flat space-time, spherical coords: $(ds)^{2} = (c dt)^{2} - (dr)^{2} - (r d\theta)^{2} - (r \sin \theta d\phi)^{2}$
Space filled by uniform matter distribution: $(ds)^{2} = (c dt)^{2} - R^{2}(t) \left[ \left( \frac{d\varpi}{\sqrt{1 - k\varpi^{2}}} \right)^{2} + (\varpi d\theta)^{2} + (\varpi \sin \theta d\phi)^{2} \right]$
Empty space around point source of matter: $(ds)^{2} = \left(c  dt \sqrt{1 - 2GM/rc^{2}}\right)^{2} - \left(\frac{dr}{\sqrt{1 - 2GM/rc^{2}}}\right)^{2} - (r  d\theta)^{2} - (r \sin \theta  d\phi)^{2}$
Units, etc to c or not to c:
$d\tau^{2} = \left[1 - \frac{2MG}{r}\right]dt^{2} - \left[1 - \frac{2MG}{r}\right]^{-1}dr^{2} - r^{2} d\theta - r^{2} \sin^{2} \theta d\phi^{2} \qquad ct \rightarrow t $ (Weinberg)
$d\tau^{2} = \left(1 - \frac{2M}{r}\right)dt^{2} - \frac{dr^{2}}{\left(1 - \frac{2M}{r}\right)} - r^{2}d\phi^{2} \qquad \qquad ct \neq t;  GM/c^{2} \neq M; \text{ leave out } \theta$ (Taylor & Wheeler)

![](_page_3_Figure_0.jpeg)

![](_page_3_Figure_1.jpeg)

![](_page_4_Figure_0.jpeg)

![](_page_4_Figure_1.jpeg)

![](_page_5_Figure_0.jpeg)

![](_page_5_Figure_1.jpeg)

Metric for flat space-time, spherical coords: Stolen from Weinberg, "Gravitation & Cosmology"  $(ds)^{2} = (dt)^{2} - (dr)^{2} - (r d\theta)^{2} - (r \sin \theta d\phi)^{2}$ Einstein's eqn:  $R_{\mu\nu} - g_{\mu\nu}K = -8\pi GT_{\mu\nu}$ In empty space:  $R_{\mu\nu} = 0$  $ds^{2} = B(r) dt^{2} - A(r) dr^{2} - r^{2} (d\theta^{2} + \sin^{2} \theta d\phi^{2})$ Curved space-time: Unknown functions, allow space to be curved  $R_{rr} = \frac{B''(r)}{2B(r)} - \frac{1}{4} \left(\frac{B'(r)}{B(r)}\right) \left(\frac{A'(r)}{A(r)} + \frac{B'(r)}{B(r)}\right) - \frac{1}{r} \left(\frac{A'(r)}{A(r)}\right) - \frac{1}{r}$ Non-zero = 0 components of Einstein Eqn:  $R_{\theta\theta} = -1 + \frac{r}{2A(r)} \left( -\frac{A'(r)}{A(r)} + \frac{B'(r)}{B(r)} \right) + \frac{1}{A(r)}$ = 0 Where: r' = d/dr $r'' = d^2/dr^2$   $R_{\varphi\varphi} = \sin^2 \theta R_{\theta\theta}$ = 0 $R_{tt} = -\frac{B''(r)}{2A(r)} + \frac{1}{4} \left(\frac{B'(r)}{A(r)}\right) \left(\frac{A'(r)}{A(r)} + \frac{B'(r)}{B(r)}\right) - \frac{1}{r} \left(\frac{B'(r)}{A(r)}\right) = 0$ Schwarzschild's solution (1916):  $ds^{2} = \left[1 - \frac{2MG}{r}\right]dt^{2} - \left[1 - \frac{2MG}{r}\right]^{-1}dr^{2} - r^{2} d\theta - r^{2} \sin^{2} \theta d\phi^{2}$ 

![](_page_6_Figure_1.jpeg)